WA BB L&i5>+>0 2021/10/24 55

fl 2021 FERFBERENL—R—LERBFIERFY —TH

FEAYVIRER (NN OoTEvIED) INV DT Y ITRER
= b4 s = t
# = R # = b3
=] b i = P s & v T = %
= F—L%E & 3 E - F—L%E & E
m alr| = " A E f &l = & ]
1 |iR#gXRE 1 23 567 320 33 56. 4 1 iE#gKRE 1 23 108 60 9 55.6
2 |ifmfERE 1 23 590 310 36 52.5 2 [IIffERE 1 23 122 62 14 50.8
3 |HEEEKRE 1 21 124 363 n 50. 1 3 |REEEKRE 1 27 135 60 22 44 4
4 | REREEKRE 7 26 678 331 81 48.8 4 (MPERKE 7 26 89 39 12 43.8
5 [BfEKE 7 27 729 337 66 46.2 5 |[BAEKE 7 27 53 20 7 31.17
6 |HPERKE 7 26 749 337 63 45.0 6 | KEREEKRZ 7 26 60 21 15 35.0
7 | KBr=#BREKRE 7 25 663 291 52 43.9 1 | RERZEFRKRE 7 25 22 7 5 31.8
8 |RIEHKE 7 27 763 318 70 41.7 8 [RIEHKE 7 217 52 16 8 30.8
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1 |REBEEKXRE 7 27 724 50.1 303 60 363 1 EgKRE 7 23 76 3.30
2 [BAEKE 7 27 729 46.2 317 20 337 2 (RIE#RKE 7 217 64 2.37
2 |MFERKE 7 26 749 45.0 298 39 337 3 [ KirEEXRE 7 26 59 2.217
4 | KR EXE 7 26 678 48.8 310 21 331 4 [SIEERE 7 23 46 2.00
5 (EEKE 7 23 567 56.4 260 60 320 5 |BfEKZE 7 27 45 1.67
6 [RIFEHKZE 7 27 763 41.7 302 16 318 6 [REEEKRZE 7 27 42 1.56
7 |IdRfEKRZE 7 23 590 52.5 248 62 310 1 [MEZERKE 7 26 27 1.04
8 | KB KRE 7 25 663 43.9 284 7 291 8 | KRR KRE 7 25 24 0.96
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1 |SIfHERE 7 23 547 44 145 95 10.3 1 |RAEHKRE 7 27 474 | 350 0 124 73.8
2 |RIFEHKE 7 27 591 28 167 52 9.6 2 |mEBEEXRE 7 27 501 363 0 138 72.5
3 |HPERRE 7 26 550 28 153 99 7.5 3 [iR#gKRE 7 23 360 | 257 0 103 1.4
4 [EHRFE 7 23 572 28 115 70 6.9 4 [SIHfEKRE 7 23 379 | 269 0 110 71.0
5 |EfEXE 7 27 595 21 162 84 6.8 5 [P ERKE 7 26 527 | 366 0 161 69. 4
6 | KBRZFIRKRE 1 25 488 8 120 38 5.8 (BPNUTEEDN=S 1 26 496 | 336 0 160 67.7
T |mEBEEXEKRE 1 27 595 24 129 93 5.5 7 |BEEKE 1 27 520 | 338 0 182 65.0
8 | KEREEKE 1 26 565 15 116 95 3.6 8 [KERERRKE 1 25 498 | 317 0 181 63.7
H—IPER (%) =(H—EXI—ZAX100+3E x 25—k 8 x25) +3iTH Y—TLI—TRUE (%) = (B [E] x 100+ Ih [R] x 50) +$T#
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